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i 1

feti © 2H,0 + 2¢- — H, + 20H

(545 : 40H- — 2H,0 + Og + 4de-
1X193+9.65x10% = 2X 107 mol
2x1023+2=1%x103mol
224%x1x%x107°%=0.0224 L

] 2

KI et 0 2H,0 + 2 — Hy, + 20H-
F’%T@ 2T = I+ 2e
H,SOs  [&#H : 2H*+ 2e- — H,
545 : 2H,O — Oy 4+ 4H* + de-
CuSOs [Eff : Cu?*+ 2e — Cu
[5H5 : 2H,O — Oy 4+ 4H* + de-
AgNO; [21# : Agr+ e — Ag
[5H5 0 2H,O — O, + 4H* + 4e-

3

(2X48+4X16) +6.0X10% = 2.67X10% g

4.6X10° X 4.6X10% X 3.0 X10®%= 6.35X10% cm’

2.67X10% + 6.35X10% = 4.20 — 4.2 g/cm’

ft] 4

(7) 2HI—-H,+ I,
(/f ) I, + SO, + 2H,O — 2HI + H,SO,

i 1
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KD B 0.00° C, B OEEE M —0.148 °C, HElE mifE TEE 0.148 K

3

0.148 K + 1.85 K-kg/mol = 0.08000 mol/kg
0.184 ¢ + (0.08000 mol/kg X (50 g +1000) kg) + 3) = 138.0 (g/mol) — 138

[l 4
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0.148 K =+ 0.185 K= 0.8000
50.0 g —(50.0 g X 0.8000) = 10.00 g — 10.0 g

6

608 mmHg + 760 mmHg X 1.01 X 10° Pa = 8.08 X 10* Pa — 8.08 X 10* Pa

7

0.520 K-kg/mol X {0.0500 mol + (100 g + 1000) kg} = 0.2600 K — 0.260 °C
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L&A =&V CH;—CH;

CH,=CH
L&Y B : ke = cl

TCHZ-?HT
L&Y C: Ry = Cl Jn

CH,=CH
{tEYMD: =7 ra—n OH

CH3—ﬁH
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CaC, + 2H,0 —» H—C=C—H (C;H,) + Ca(OH),

f] 4

CH,=CH, + Cl, —3 CI-CH,-CH,-CI

CI-CH,-CH,-cl —»= CH2=CH . ¢
cl
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H,C CH
CH, CH,

6

246-FV=tm btV NO,

7

n HOOC—@—COOH + nHO-CH,-CH,-OH —»
ﬁ—@—ﬁ—O—CHZCHz—O +2n H,0
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(DA:V v, B:gE C3HE, (2) RNA ClzVK—2ThzoicxtL, DNA
Tk (26 -OH 2 -HIicE#I i) TAHFL )V R—2TH 3B, (3)KkE
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